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Note:- You have four choices for each objective
fill that circle in front of that guestion number.
will result in zero mark in that question.

Use of ink remover or white correcting fiuid is not allowed.
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type question as A, B, C and . The choice which you think is correct;
Use marker or pen to fill the circles. Cutting

Write PAPER CODE, which is printed on this guestion paper,

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for

or filling two or more circles
on the both
the situation.

(D) (C) (B) (A) QUESTIONS Bl
U P sJF Sk | el N Ve Ve = Fo | 1
Burning of Nuclear Thermal Hydroelectric |The method of production of electricity that
biogas Power Power Power. does not praduce. pollution is
J5d o e o8 e JieA LB 2
Alcohol Methane Ethanole Ethane The substitute of natural gas is ...
%25 %20 %15 %10 o L B LGS | 3
25 % 20 % 15% 10% Soufces of energy Consumed in Industries
areigpproximately.
U P N : v sl Lok | 4
Potential Resistance don® | Phe opposition to flow of charges is called.
difference _ﬁ‘ .
.;i,)gﬂ’ i ¢ whJ _:r,t/ ..... fcpj,gz_.mg_ﬁgs&ug/;w'i} 5
Decrease or Equal Decrease increase Transformer is a device which is used to ...
Increase A.C voltage
101011 110011 100101 101101 'E’ét“'l‘j’( 3?‘.}5(/6}'@ g
In binary system 37 is written as
P A zi iy e (tELTL ST
Oham meter Ammeter Galvanometer | Volt meter The instrument that measures Current is called ......
- iz 2r s Sl urd it | 8
Scratch Spindie Driver Fiates The space between the pits in Compact disk is called.
&L s %4 y INPRERE O A2 AR
F';\.;e Fc;ur Three Two The number of electron guns in Colour television are.
14U Kpw Kyt §l 4.;.,»6?}_:;“}%:),;," 10
cPU ROM ALU RAM In Computer, the control unit is central part of.
Jﬂ:)'l,_uy{[}:f{lg»:) 11
i HAERT 189 7 580 The Radio_activity was discovered in
wlic 20 KHZ | 20 KHZ 20 HZ (e 20HZ e dnoEpdEaP | 2
More than 20 KHZ 20 KHZ 20 HZ Less than 20 HZ | Frequency of ultrasound is .....
KL d1 7 RV Z.5 4! PERTREAN R
Angeography M.R. EEG EC.G Test that measures the electrical activity of hea_n_if;_._
Rayon ¢l Silk - Nylon v;’?t Potysterﬂ;’_’ ‘lt is natural fibre. - g5 J;ﬁ___, 14~
1973 | -1965 , 1961 ,1956 | The SUPARCO was established in.-br Feh | 15 |
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Answer briefly any Six parts from the followings:- 6x2=12 -Q’/{f;&lﬂf?ﬁ!?! 7 c_,é,(:__u:bh(_”, 2

What is elastic potential energy?

Write the name of two nuclear power stations of Pakistan.
Differentiate between biomass and solid waste.

Define Power and write its eguation.

Define environment,

Write any two suggestions for conservation of energy.

Write four uses of electricity.

Define potential difference and write its unit.

What is meant by discharging of capacitor.

((...l/ /IJ"‘?JLH (i)
‘érciﬁ»y}i»;u% (if)

S GV UL e s L (i)

& et Juia g SemiSal (iv)
LS 8 ()
e B Leg S0 (i)
sl L (i

eyl S S AR P (i
Se Ve Lirs§ i (ix)

Answer briefly any Six parts from the followings:- 6x2=12 -Q/Q/’:«Lli;’z!?l s ‘-_J)/.:.gﬂ‘_fi G 23

Describe the difference between Analogue and Digital meters

Define Direct Current. ./ Jew 2Sws/edas (i)
Define P-type Semi - Conductor,

Write the name of two output devices.

What is meant by Graphics? Y« i/ Ve ﬂf {vii)
Describe the function of a video casette.

What is meant by data management?

SIS G R I A S (i)

Define electric shock. J/J/’JJ&J}-“'/J! (i)
YIS )

L Al W)

What is a floppy disk? Y« Ot Y Lid (vi)
S KA s (i)

Sp &l L oy (ix)

Answer briefly any Six parts from the followings:- &x2=12 _u;&fayrzﬁ"ﬁ 1zl & ;ch..g,ﬁd‘_: o -4

What is meant by crystalization in Sugar industry?
VWrite two isotopes of chlorine.
Why is laser called light knife?

Write two uses-of MR.L 27170, L JI'_;T__K-'l (v)
What is meant by Electrocardiogram?
Where the SUPARCO earth station established?
Define climatology.

What is meant by PINSTECH?

Part i1
Note: Attempt any three questions.

(a) Write four steps for conservation of energy.

(b) Explain difference between Kinetic Energy and Potential energy
{a) Write differences between direct current and altemating current in detail.
{b) Explain the types and uses of capacitors in detail.

{(a) What you meant by Semi-conductors? Describe its two types

(b} Write a note on Radio waves.

{a) What are radioisotopas? Write down some of their uses.
(b) Write a note on Pharmaceutical Industry.

{a) Write the importance of meteorology and metostat in detail.

(b) Write the basic objectives of SUPARCO in detail.
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Define total internal reflection. éfJ/Ju’a‘Jﬂ J:’ (iv)
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Note:- You have four choices for each objective type question as A, B,CandD. The choice which you think is correct.
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
1.4 % 15% 16% 17 % | o Gk e 1
Carbon in ordinary steel is.
A VR I v ¢
The charge on Beta Radiationsis.

Pl p St o o bt gL Lot 3
Badarl Rahber Spatnik Shaheen The name of first artificial satellite is. |
AL S ez 3 ¥ Nz S G nzrend=/7] 4
Chemical Electric Heat energy | Kinetic energy E p%e '& a body due to motion is called.
energy energy T e &
=7 122 sl g ‘-jg » Vi S 6= - S gl ? | 5

Heat Power Energy ork Product of force and distance is.

) P v Ly .lv"l? ~&~ C;.)l'/. 5’{;:; 6
Plants Stars Sun Moon Maijor Source of light is.

LN K2 s > P! & e 2T 1
Transformer Resister Conductor Capacitor A device to decrease or increase the voltage is.

2 br » X e ST L WS 8
Resister Switch Fuse Meter Device that complete or break the circuit is.

I~ e Py ot | - STt S
Meter Ammeter | Galvanometer \Volt meter | Device to measure potential difference is.

Lo 31U | 10
101100101 101101001 101001001 110110110 i o
In Binary System we will write 361 as

St ol 314 S Ut L falii Lﬁ’;/& {_-)s.’u?L 11
Nitrogen fron Carbon Hydrogen Which elements are found in microphone.

iy 7 P 1§ PTRWAYS: FIafFLA | 12
Modem Scanner Mointor Keyboard The instrument which convert electrical signal fo

digital signal is. I

M A Pl ol _.;.;.,J.:;)’.,W:ﬂ’;fdf.;;eq 13

Holes Atoms Positive ions Electron The reason of maximum current in P-type
semi Conductor is.
M;Jﬁfﬁ N ) S et U SL For oS 38
Total internal | Interference Refraction Reflection | On which principle fibre optics work at light?
reflection
r 2 gy gl 5 i e S L
X-rays EEG ECG \ MRI The instrument to measure brain activity is
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Answer briefly any Six parts from the followings:- 6x2=12 _qui..-.wﬁ/"%if;:i z c.ch..pﬁ;_,f’_ia» iy

What is atmosphere?

What do you mean about thermal pollution?
What is meant by nuclear waste?

Define nuclear fission.

Write names of types of energy.

Write two methods for conservation of energy.
Define Conventional Current.

Write names of compenents of a circuit.

Write uses of electricity.

L Jima )
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Answer briefly any Six parts from the followings:- 6x2=12 -/ /zfediz L7 4 « e L iSitn -3

What is meant by Step up transformer?
What is meant by Direct Current?
Write a short note on Cable T.V.
What is meant by input devices of Computer?

Write the use of Carrier Waves. -u=*Je18igs 27 (vif)
What is meant by vedio and audio signals.

What is function of modem?

00

Sesip e Pl ) )
Sl e S5 (i)
Define electric Shock.s /v 2SS0 i)
SN ST
Wirite the use of electronics. u.‘."gd‘ﬁ‘f Kﬁ}gi {vi)
Se st e Foy3Ta g b (viil)
e tSrE Sy (ix)

Answer briefly any Six parts from the followmgs - Bx2=12 -u‘/(/’ui,li'/"zl?i 4 :_.Jfr_.ucd'.t L -4

Which objects are used for Laser?

What is meant by hologram?

Write the use of Laser in ophthalmology.

Define radioactivity.

Write the two properties of X-rays.

What are the different sources of Leather?

What is meant by Hubble telescope?

Where are the nuclear power piants of Pakistan located?

Define meteorology.

Part II
Note: Attempt any three questions.

(a) Write a note on two traditional methods for production of electricity.

(b} Describe four steps to reduce degradation of environment.
{a) Write types of capacitors and their uses.

{(b) What is multimeter? What is it used for?

{a) Write a note on Analouge and Digital convertors.

{b) What are the main paris of computer and do they work

{a} Write down the importance and uses of Steel mill.

(b} Describe Sugar Processing in detail.

{a)} Write a note on Hubble Telescope.

(b) Write note on two Nuclear Power Plants of Pakistan.
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